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1. 3T a% @ $Md H 10 ufewd gReds 1. If 10 percent changes in the price of

N T o1 s i e commodity is followed by 5 percent
changes in quantity demanded, then
BIdT &, I HI &) @ g
elasticity of demand is :
(A) 10 (A) 1.0
(B) 05 (B) 05
(C) 20 (C) 2.0
(D) 01 (D) 0.1
2. o &1 g fear T g 2. Theory of population is given by :
(A) TsH "9 gRT (A) Adam Smith
(B) HARfA gRI (B) Marshall
(C) HIe¥ &Rl (C) Malthus
(D) Suga H A Bl el (D) None of the above
3. oM fbas fou qREDIR AT ST g7 3. Profit is considered a reward for :
(A) TN a1 B foru (A) Serving the society
(B) WIRH a8 & foru (B) Risk bearing
(C) ARHTH & U FxA B forg (C) Attaining the maximum profit
(D) SUYa H A Bl 7l (D) None of the above
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4, VSN SEEE N B9 gag H Ry ? 4. When did the National Population Policy
come into effect ?

(A) 1947 (A) 1947
(B) 1952 (B) 1952
(C) 1992 (C) 1992
(D) 2000 (D) 2000
5. fifeRed § & o andfds Aoiqd @1 5. Which of the following influences real
I R B ? wages ?
(A) DM Bl Thfd (A) Nature of job
B) T (B) Pleasure
(C) @M & dfe (C) Satisfaction of job
(D) SUYd H A IS el (D) None of the above

6. Yol & WM & folg YA & T Sid 6.  Price paid for the use of capital is :
2

(A) A (A) Wages

(B) <™ (B) Profit

(C) o (C) Rent

(D) < (D) Interest

7. ST @I 37 el o S Fehal 7. Labour cannot be separated from :

(A) T ¥ (A) Capital

(B) oM ¥ (B) Profit

(C) |TeH ¥ (C) Organization

(D) 9% | (D) Labourer
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10.

11.

[bee Sfild Uebel SUANT ScUIadh a3l
H T o 7 2

(A Rer Il

(8) Wrder ol

(C) el gull

(D) SUE F F PIE T

U Ffegavel § awRal IR ARl & forg
Gl HAT BTN © -

(A) TSR A

(B) HU HT

(C) Whdl Y g

(D) STda # | @IS AL

frefoRad o aH-a1 wdfc s T8
g ?

(A) FRTESI
(B) & ST H Aoyl & WK
(C) SRINTIRI
(D) 3mfaRT H IUE BT WR

1. IR, A o (U YEID S &
Rigr W Mae’ gaHiid @

(A)
(B)
(©)
(D)

1895 H
1776 H
1857 H
1798 %

AG-2004
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10.

11.

Single use producer goods falls under :

(A)
(B)
(©)
(D)

Fixed capital
Working capital
Permanent capital

None of the above

The total demand for goods and services

in an economy is known as :

(A) National demand
(B)
(©)

(D)

Aggregate demand
Gross National Product
None of the above

Which of the
Macroeconomics ?

following is not

(A) Inflation
(B)
(®
(D)

Level of wages in garment industry
Unemployment

The level of output in the economy

T. R. Malthus published his book ‘Essay
on the Principles of Population’ in :

(A) 1895
(B)
(©€)

(D)

1776
1857
1798
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12. 9fd goRk aafdd W Sifdd o= @7 9= 12.  The number of live births per thousand

oy 9§ S o R persons in a year is termed as :
(A) 9H X (A) Birthrate
(B) I =X (B) Death rate
© Eﬂ?g' ™ (C) Growth rate
(D) Suga H H Pl el (D) None of the above
13. IR & RV @ 13.  The cause of inflation is :
(A) H&T @ g ¥ gfg (A) Increase in money supply
(B) S<ed H dHI (B) Fall in production
(C) T (A) 3R (B) (C) Both (A) and (B)
(D) SWE ¥ ¥ IS el (D) None of the above
14. frefafed & & f ERwIfd & w99 14 Who among the following is most
3P o Moy 2 7 benefitted from inflation ?
(A) TRORI HHARY (A) Government employees
(B) YT T dTel (B) Creditors
(C) FV oY aTell (C) Debtors
(D) SUYa H H IS el (D) None of the above
15. HERWIT a8 Rafd & e - 15.  Inflation is the state in which :
(A) ¥ & eI bedl & (A) The value of money decreases
(B) ¥ &I 44 9l © (B) The value of money increases
(C) HaT I Heg Ugel dadl 2 Y gedr (C) The value of the money increases
3 first then decreases
(D) SUYa H A Bl 7l (D) None of the above
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16.

17.

18.

G B BAT BT JERBIT DA FAIAT
T B ?

(A) TRA BT BT T B

(B) aXel B BT Tl &

(C) R I TE

(D) ®Wd Teel T 8, 9% H e &

I 3T B T BRe BT A fafert
2

(A) SEH, Y AR AT FIMT faferar

(B) SUEH, Y IR IR AU faferd

S, @@ AR MY GO
faferat

Swad # ¥ Plg T
feferied § @ SIH-T1 R I

(©)

(D)

foche Jeer & ?

(A)  ERIAT Hel
(B) fawmifa

(C) STaWIT

(D) SUYa H A Bl 7l

AG-2004
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16.

17.

18.

How does inflation affect the price of the

commodities ?

(A) Price of the commodities decreases

(B) Price of the commodities increases
(©)

(D)

No effect

First the price decreases later on

increases

Three methods of calculating national

income are :

(A) Production, expenditure  and

income computation methods

(B) Production, expenditure and tax
computation methods
(C) Production, expenditure  and

investment computation methods

(D) None of the above

Which among the following is exact

opposite of inflation ?

(A) Stagflation

(B) Disinflation
Deflation

(©)

None of the above

(D)
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19. WEWd FF & G ¥l § - 19. The major objectives of public

expenditure are :

(A) e & fofy we-xwe (A) Maintenance of defence
(B) SHINIG Hedror (B) Social welfare
(C) o famr (C) Economic growth
(D) Sugad FHI (D) All of the above
20. YA RIFCRY H g B T - 20. Transfer payments include
(A) STgaH (A) Subsidies
(B) gETave YA (B) Old age pension
(C) STaNId & (C) Interest on public
(D) SUgad JHI (D) All of the above

21, NIdWING /RGN ISRG BT TG qg?cwiﬂ]‘ 21. The most important source of public

g 2 revenue is :
(A) @ (A) Taxes
(B) &I (B) Interest
(C) dswH™ B (C) License fee
(D) Suga H A Bl 7Tl (D) None of the above

22, IWD I Fefid Bl © 22.  Public expenditure refers to :
(A) STIRT & IT | (A) Consumer’s expenditure
(B) fioh = A (B) Private expenditure
(C) IR I | (C) Government expenditure
(D) SUYa H A Bl 7l (D) None of the above
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23.

24,

25.

26.

RN U RIENE

(A) R-aer =l g o1
(B) fdora dw=il & &
() ol = @

(D) SWF &l BT

WG (70T, AT TRTER E

A T s
(B) IR-TIN T & B

(C) INFFG &g &
(D) STda # & @IS AL

freferRad & 9 PE-91 JoHNTd Fg Bl
fewT 6 & ?

oI g IR IR Tl & 919 3R
Pl BB © :

EIRIEEReI

qoTe ©Te

RSTHIYRT HIel

NEACRIE]

(A)
(B)
(©)
(D)

AG-2004

(9)

23.

24.

25.

26.

Interest payments is a part of :
(A)
(B)
(®)
(D)

Non-development expenditure
Development expenditure
Capital expenditure

All of the above

Bharat  Nirman, MGNREGA are

examples of :
(A)
(B)
(®)
(D)

Capital expenditure
Non-plan expenditure
Plan expenditure

None of the above

Which of the following is not a part of the

plan expenditure ?

(A)
(B)
(©)
(D)

Agriculture
Defence
Industry

Social services

The  difference  between revenue

expenditure and revenue receipts is :
(A)
(B)
©)
(D)

Primary deficit
Budget deficit
Fiscal deficit

Revenue deficit

Set-C



217.

28.

29.

30.

AG-2004

Bl Y AR Gl WAl & M9 3R B
FEd © -

(A) RIS =Ter

(B) oMY HTel

(C) 9ol HTel

(D) IS4G ©TeT

e faww H e <o @
TRy ¢

(A) FENTATE) JFfedRer

(B) TRFRFIG 3refarawen

(C) USlrardl refeyawer
(D) fAfra arefegaven

R Sreleavenn &l 3ftid Iugad w4
T BT ST AP ¢

(A) Yol & wY o

(B) SHINIAGl & ®Y H

(C) TFRF & ®U H

(D) faf¥d wu ¥

‘AP srfarmer e gl 2

(A) TET R OTRE S & o
R

(B) NI 3R BIC M YBR & SaMl
B AT

(C) ol 7 widuifRe <= &3 @
R

(D) fawRa ok afaefid <= el @
R

(10)

217.

28.

29.

30.

The difference between total expenditure
and total receipts is :

(A) Primary deficit
(B) Fiscal deficit
(C) Budget deficit
(D) Revenue deficit

In the present world, most economies
are :

(A) Socialist economy
(B) Traditional economy
(C) Capitalist economy
(D) Mixed economy

The Indian economy can be most
appropriate described as a :

(A) Capitalist
(B) Socialist
(C) Traditional
(D) Mixed

The term ‘mixed economy’ denotes :

(A) Existence of both rural and urban

sectors

(B) Existence of both heavy and small

industries

(C) Existence of both private and

public sectors

(D) Existence of both developed and
underdeveloped sectors
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31, OEEd ST favemer fear wam 31. Cardinal utility analysis was given

o - by :
(A) 3JAbS TR R (A) Alfred Marshall
(B) forma Jfe=T gwr (B) Lionel Robbins
(C) TsH R g (C) Adam Smith
(D) SWE ¥ ¥ IS el (D) None of the above
32, SUMIHT &I §9d o TS 32.  Consumer surplus was given by :
(A) TsH 9T gRT (A) Adam Smith
(B) HRIRH ERI (B) Samuelson
(C) IS A¥Id g (C) Alfred Marshall
(D) forama =T gwr (D) Lionel Robbins
33, gufc N1 39 99 ¥ W 9 9§ 33.  Budget line is also called as :
(A) duic e (A) Budget constraint
(B) T NI (B) Price line
(C) g Xl (C) Expenditure line
(D) Sugad F4I (D) All of the above
34. dcwdl db : 34. Indifference curves :
(A) P & Pred (A) never intersect
(B) @Ic Thd B (B) can intersect
(C) Tl 31T Pl I I & (C) touch either of the axes
(D) SUYa H A Bl 7l (D) None of the above
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35. HAT @ M9 o & :
(A) |ERY TR B oY oD
(B) dfeal a¥q3ll & foly FoTead
(C) W Fwgel @ forg
(D) T (A) 3R (B)

36.  FIURH Pl BT T GRYTT < T

37. TR TRCRUT I & AGY @ -
(A) I Hge
(B) @I wfte Tl
(C) @ W
(D) e wgfe
38. yfoRemud @ ¥Hid R X AR Y T D
49 e @ o g
(A) MRSy = AY.AX ERI
(B) MRSyy = AY/AX ERI
(C) MRS,y = AX/AY §RI

(D) MRSy, = AX/Y §RT

AG—-2004 (12)

35.

36.

37.

38.

Income elasticity of demand is :

(A) Positive for normal goods

(B) Negative for inferior goods

(C) Zero for complementary goods

(D) Both (A) and (B)

Welfare definition of Economics was
given by :

(A) Lionel Robbins

(B) Marshall

(C) J. M. Keynes

(D) F.A. Walker

Higher indifference curve means :

(A) Higher satisfaction
(B) No satisfaction
(C) Same satisfaction

(D) Lower satisfaction

MRS between goods X and Y is given
by :

(A) MRSy, = AY.AX

(B) MRSy = AY/AX

(C) MRSy, = AX/AY

Set-C



39.

40.

41.

42.

AG-2004

AT @ BIal § G | BN T

(A 6 o

(8) T # e

(C) Rer gfd

(D) W A W I T

gl SYAINT &

(A)  ARYHTH S dmid ST I 8

(B) I STANAT &1 I

©) fIff= so=al @& ST 9 U«
A &1 AN

(D) Sugad F4l

HHITED YA BT ded BT §

(A)  SUAIRE A S G 2 |

(B) SYRrar Ardt FE o Fehell & |

(C) SYMRIARN &I HH § @ o Fhdl
gl

(D) T (B) ¥R (C)

qCReIdT a% Bl @
(A) AR AR
(B) SR IR
(C) W P NP AR r
(D) SWad # | BIS T2

(13)

39.

40.

41.

42.

Reduction in input prices leads to :

(A) Decrease in supply
(B) Increase in supply
(C) Constant supply

(D) None of the above

Total utility is :

(A) maximum when marginal unity is
zero

(B) Sum of marginal unity

(C) Summation of satisfaction gained

from consuming various units

(D) All of the above

Ordinal utility means :
(A) Utility can be measured.
(B) Utility cannot be measured.

(C) Utilities can be ranked.

(D) Both (B) and (C)

Indifference curve is :

(A) Concave shaped

(B) Convex shaped

(C) Straight line slopping upward

(D) None of the above

Set-C



43. Ufd @1 g B forar S B 43. Elasticity of supply is written as :

(A I F % wRaE/dma H % (A) % A in supply/% A in price
gRa
(B) HRT @I AT H % gRaa /gt H % (B) % A in quantity demand/% A in
TR supply
(C) Uil & A H 9% uRad /HAT H % (C) % A in quantity supplied/% A in
aRadq demand
(D) SUYd H A I el (D) None of the above
44. W\ B A P G Bl § 44. Range of elasticity of demand is :
(A) 01 (A) 0to1l
(B) 0¥ oo (B) 0to
(C) — o0 A o (C) — ootow
(D) -1+ 1 (D) —1to +1
45. FNIR BAd R Yg TSI UG 3 : 45.  NNP at market price is :
(A) TR PHT R Fhal TSR WG (A) GNP at market price — depreciation
- eI
(B) W ofld WX g MY TS + (B) NNP at factor cost + net indirect
9Ig AT N taxes
(C) TR $HMd W AT W] IAE + (C) NDP at market price + net income
R ¥ e IE I from abroad

(D) Sugad FI (D) All of the above

AG—-2004 (14) Set-C



46. R AN W YE TEH IAE § - 46.

(A) TNR dHd R Yg S ST

— Y& UL PX

(B) WRI o Td WX ol Q%q SIS

— U

(C) oM + oM + &N + Aol +
foee & U g I
(D) ST W

47. FefeRad 4 9 dF-91 ISR W A 47,

HET oA g P

(A) TNR BT W Fehel HNe] IUIG
(B) dNIR ®Md W Adhd TN IUG
(C) IR BIHd W g TS SIS

(D) EH AN R g T ScUTg

48. A JIARH DI 39 ®Y A AT O § 48,

(A e Rerd
(B) IR Rigr
(C) sm frgrd
(D) HnT g

AG—-2004 (15)

NNP at factor cost is :

(A)

(B)

(©)

(D)

NNP at market price — net direct

taxes

GNP at factor cost — depreciation

Profit + rent + interest + wages +

net income from abroad

All of the above

Which of the following is also called as

‘national income’ ?

(A)
(B)
(©)
(D)

GDP at market price
GNP at market price
NNP at market price

NNP at factor cost

Microeconomics is also called as :

(A)

(B)

(©)

(D)

Price theory

Employment theory

Income theory

Demand theory

Set-C



49,

50.

51.

AG-2004

R ARG R IE TR SIS ©

(A) NET ofTd W Hdhel o] ST +

facenl 9 e gg I

(B) NI ofTd WX Hdel dXef vHlq +
g

(C) dNR &N W Y& B IdE +
g U IR

(D) SWE ¥ ¥ IS el

ST 3 8

(A) SIS 3T + YT X
(B) IKI® M — UIeT
(C) TIKS 3T + IYET TN
(D) JIfdTP T — AUTET T
ARSIl & <4 H AT BT S A
gl 8

(A) gD

(B) FUTHD

€) X3

(D) SUYa H A Bl 7l

(16)

49.

50.

51.

NDP at factor cost is :

(A) GDP at factor cost + net income

from abroad

(B) GDP at factor cost + depreciation

(C) NDP at market price — net indirect

taxes

(D) None of the above

Disposable income is :

(A) Personal income + Direct tax
(B) Personal income — Direct tax
(C) Personal income + Indirect tax

(D) Personal income — Indirect tax

In case of complementary goods, the

cross elasticity of demand is :

(A) Positive

(B) Negative

(C) Zero

(D) None of the above

Set-C



52. URRUMIUS axqeii & &= # #FT @1 52. In case of substitute goods, the gross

) i B R elasticity of demand is :

(A) TS (A) Positive

(B) FUTHD (B) Negative

€ Td (C) Zero

(D) Sugad H | DIg el (D) None of the above
53. o awgd & - 53.  Giffen goods are :

(A) TaeTREg Ty (A) Luxuries goods

(B) ST I (B) Superior goods

(C) dfear awy (C) Inferior goods

(D) Suga H A Bl 7Tl (D) None of the above

54,  IrENEId a??je,ﬁ @ I<d § 41T DI el 54. In case of unrelated goods, the gross

RIEES IR elasticity of demand is :
(A) oD (A) Positive

(B) RUTHD (B) Negative

© T3 (C) Zero

(D) ST § ¥ PIg T (D) None of the above

AG—-2004 (17) Set-C



55. fRad-Ueq &1 oFfH Rigra smaRd 55. Hicks-Allen indifference theory is based

% : on:

(A) PHOR HH H WWH R (A) Weak ordering
(B) WOIgd HH H @ W (B) Strong ordering
(C) ReR 79 H W W (C) Constant ordering
(D) SUYd H A I el (D) None of the above

56. Od DFd gcdl & ol SUHIdd] Pl ardidd 56. What happens to consumer’s real income

AT H R BT T 7 when price falls ?
A T (A) Increase
(B) @ (B) Decrease
(C) fRerR = & (C) Remains constant
(D) JH+¥ad (D) Uncertain
57. faorg wrawdl oy € TS 57.  Growth definition is developed by :
(A) IS A¥ R (A) Alfred Marshall
(B) TUsH ¥ gRI (B) Adam Smith
() Ul U IR gRI (C) P.A.Samuelson
(D) . TH. I gNI (D) J. M. Keynes

AG—-2004 (18) Set-C



58.

59.

60.

AG-2004

SUTFIT B §9d Bl T Bl AT B

(A) T B T Hl R — U el
ST
(B) UK ol IYIIRTAT — FHiT ST

(C) U ol SR — &d $ T
ol TRIIT
(D) SWE ¥ ¥ FIg el

RO F o THG [&H a9 i
epTRRNT b1 T |

(A) 1776
(B) 1780
(C) 1905
(D) 1912

TG Deplghited’
&gl BT Gfrare fohar T

¢ =2 ps ’
Hig g DIHITHR

(A) . T I gRI

(B) TR AR g
(C) TR f5er g1
(D) @b AT gRI

(19)

58.

59.

60.

The consumer’s surplus is worked out
by :
(A) Total amount spent — Total utility

gained

(B) Total utility gained — Marginal
utility
(C) Total utility gained — Total amount

spent

(D) None of the above

The book ‘Wealth of Nations’ published

inthe year .........c........ .

(A) 1776
(B) 1780
(C) 1905
(D) 1912

The terms  ‘Microeconomics’ and

‘Macroeconomics’ were coined by :
(A) J. M. Keynes

(B) Regnar Nurkse

(C) Regnar Frisch

(D) Alfred Marshall

Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® WA & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-eT ¥ ANT-geb, Defdeicy, UoR a2l HegerR

B o ST 9T SHBT SN AT Iroid 2 |

7 & Rl U9 Ul wUrRer § f=Tar 89 @l
T H U BT SN BN & I BT |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

2y
i3
E
oy,
a,
j
8
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